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fit

EXARBEH L

ARGt
clear

cd c:\users\dell\desktop\statal2\datal
use data_innov_autor,clear
gen hcap=emp-prode
drop top
tostring sic,replace
gen top=0
replace top=1 if strmatch(sic,"3721" "3724" "3728" "3761" "3764" "3769" )
replace top=1 if strmatch(sic,"2911")
destring sic,replace
replace top=1 if fir==38
replace top=1 if fir==36
replace top=1 if fir==35&sic>=3571
local aa tfp4 tfpS vship vadd emp hcap pay invest matcost rd cap ass ebit capx emp_fir ///
sale intan pat cite low_cite top_cite originity generality
foreach v of varlist "aa'{
winsor 'v' ,gen('v'_w) p(0.01)
H
*%% 1
local aa tfp5 w vship w vadd w emp w hcap w cap w ass w ebit w emp fir w capx w ///
sale wrd w pat wcite w
logout, save(c:\users\dell\desktop\statal2\datal\tabO1) word replace: /// tabstat ‘aa', by (top)
s(mean sd) f(%20.4f)

MM R—EFHE

gen vad_c=vadd w/vship w

gen emp_c=In(l+emp_w)

gen cap_c=In(1+cap_w)

gen roa_c=ebit_w/ass w

gen capx_c=In(1+capx_w)

gen emp_fir c=In(1+emp_fir w)
gen sale c=sale w/ass w

genrd c=rd w/ass w

gen pat_n=In(1+pat_w)

gen cite_n=In(1+cite_w)

tab year,gen(yr)

gen Fpat=F.pat n

gen F2pat=F.pat n+F2.pat n
gen F3pat=F.pat nt+F2.pat nt+F3.pat n
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gen F4pat=F.pat_ n+F2.pat ntF3.pat n+F4.pat n
gen F5pat=F.pat n+F2.pat n+F3.pat nt+F4.pat n+tF5.pat n

local cc "vad cemp ccap croa ccapx_cemp fir csale crd c"
xtreg Fpat us_ratio “cc' yr* ,fe r cluster(code)

est store Fpat_fe

local cc "vad cemp ccap croa ccapx_cemp fir csale crd c"
xtivreg2 Fpat “cc' (us_ratio=av_ratio) yr* ,fe r cluster(code)

est store Fpat_ivfe

local cc "vad cemp ccap croa ccapx_cemp fir csale crd c"
xtreg F2pat us_ratio “cc' yr* ,fe r cluster(code)

est store F2pat_fe

local cc "vad cemp ccap croa ccapx_cemp fir csale crd c"
xtivreg2 F2pat “cc' (us_ratio=av_ratio) yr* ,fe r cluster(code)

est store F2pat_ivfe

local cc "vad _cemp ccap croa ccapx_cemp fir csale crd c"
xtreg F3pat us_ratio “cc' yr* ,fe r cluster(code)

est store F3pat_fe

local cc "vad c emp ccap croa ccapx_cemp fir csale crd c"
xtivreg2 F3pat “cc' (us_ratio=av_ratio) yr* ,fe r cluster(code)

est store F3pat_ivfe

local cc "vad _cemp ccap croa ccapx_cemp fir csale crd c"
xtreg F4pat us_ratio “cc' yr* ,fe r cluster(code)

est store F4pat_fe

local cc "vad _cemp ccap croa ccapx_cemp fir csale crd c"
xtivreg2 F4pat “cc' (us_ratio=av_ratio) yr* ,fe r cluster(code)

est store F4pat_ivfe

local cc "vad _cemp ccap croa ccapx_cemp fir csale crd c"
xtreg F5pat us_ratio “cc' yr* ,fe r cluster(code)

est store FSpat_fe

local cc "vad _cemp ccap croa ccapx_cemp fir csale crd c"
xtivreg2 F5pat “cc' (us_ratio=av_ratio) yr* ,fe r cluster(code)

est store FSpat_ivfe

*%% 2

local dd "Fpat fe Fpat ivfe F2pat fe F2pat ivfe F3pat fe F3pat ivfe F4pat fe F4pat ivfe //
F5pat_fe F5pat_ivfe"

esttab "dd' using pat 123.rtf,mtitle("dd") replace compress nogaps b(%6.4f) t(%6.4f) s(N) ///
star(* 0.1 ** 0.05 *** 0.01) drop(yr*) order(us_ratio)

*BHRE. 2ERAEFRTRIMTH T ESENEEMAR, SAE5IH.

“BRHE R R
* [ X8 S NAR R

local cc "vad _cemp ccap croa ccapx_cemp fir csale crd c"
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xtreg Fpat “cc' us_ratio yr* i.sic if top==1,fe r cluster(code)

est store Fpat_1

local cc "vad cemp ccap croa ccapx_cemp fir csale crd c"
xtreg Fpat “cc' us_ratio yr* if top==0,fe r cluster(code)

est store Fpat 0

local cc "vad cemp ccap croa ccapx_cemp fir csale crd c"
xtreg F2pat “cc' us_ratio yr* if top==1,fe r cluster(code)

est store F2pat 1

local cc "vad _cemp ccap croa ccapx_cemp fir csale crd c"
xtreg F2pat “cc' us_ratio yr* if top==0,fe r cluster(code)

est store F2pat 0

local cc "vad cemp ccap croa ccapx_cemp fir csale crd c"
xtreg F3pat “cc' us_ratio yr* if top==1,fe r cluster(code)

est store F3pat 1

local cc "vad _cemp ccap croa ccapx_cemp fir csale crd c"
xtreg F3pat “cc' us_ratio yr* if top==0, fe r cluster(code)

est store F3pat 0

local cc "vad _cemp ccap croa ccapx_cemp fir csale crd c"
xtreg F4pat “cc' us_ratio yr* if top==1,fe r cluster(code)

est store F4pat 1

local cc "vad _cemp ccap croa ccapx_cemp fir csale crd c"
xtreg F4pat “cc' us_ratio yr* if top==0,fe r cluster(code)

est store F4pat 0

local cc "vad _c emp ccap croa c capx_cemp fir csale crd c"
xtreg F5pat “cc' us_ratio yr* if top==1,fe r cluster(code)

est store FSpat 1

local cc "vad _cemp ccap croa c capx_cemp fir csale crd c"
xtreg F5pat “cc' us_ratio yr* if top==0,fe r cluster(code)

est store FSpat 0

*%g 5

local dd "Fpat 1 Fpat 0 F2pat 1 F2pat 0 F3pat 1 F3pat 0 F4pat 1 F4pat 0 F5pat 1 F5pat 0"
esttab "dd' using pat_10_fe.rtf,mtitle("dd') replace compress nogaps b(%6.41) t(%6.4f) ///
s(N) star( * 0.1 ** 0.05 *** 0.01) drop(yr*) order(us_ratio)
*TAREHT

local cc "vad _cemp ccap croa ccapx_cemp fir csale crd c"
xtivreg2 Fpat “cc' (us_ratio=av_ratio) yr* if top==1,fe r cluster(code)
est store Fpat 1

local cc "vad _cemp ccap croa ccapx_cemp fir csale crd c"
xtivreg2 Fpat “cc' (us_ratio=av_ratio) yr* if top==0,fe r cluster(code)
est store Fpat 0

local cc "vad _cemp ccap croa ccapx _cemp fir csale crd c"
xtivreg2 F2pat "cc' (us_ratio=av_ratio) yr* if top==1.fe r cluster(code)
est store F2pat 1

local cc "vad _cemp ccap croa ccapx_cemp fir csale crd c"
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xtivreg2 F2pat “cc' (us_ratio=av_ratio) yr* if top==0,fe r cluster(code)

est store F2pat 0

local cc "vad cemp ccap croa ccapx_cemp fir csale crd c"

xtivreg2 F3pat “cc' (us_ratio=av_ratio) yr* if top==1,fe r cluster(code)

est store F3pat 1

local cc "vad cemp ccap croa ccapx_cemp fir csale crd c"

xtivreg2 F3pat “cc' (us_ratio=av_ratio) yr* if top==0, fe r cluster(code)

est store F3pat 0

local cc "vad _cemp ccap croa ccapx_cemp fir csale crd c"

xtivreg2 F4pat “cc' (us_ratio=av_ratio) yr* if top==1,fe r cluster(code)

est store F4pat 1

local cc "vad _c emp ccap croa ccapx_cemp fir csale crd c"

xtivreg2 F4pat “cc' (us_ratio=av_ratio) yr* if top==0,fe r cluster(code)

est store F4pat 0

local cc "vad _cemp ccap croa ccapx_cemp fir csale crd c"

xtivreg2 F5pat “cc' (us_ratio=av_ratio) yr* if top==1,fe r cluster(code)

est store FSpat 1

local cc "vad _cemp ccap croa ccapx_cemp fir csale crd c"

xtivreg2 F5pat “cc' (us_ratio=av_ratio) yr* if top==0,fe r cluster(code)

est store FSpat 0

*% 5

local dd "Fpat_1 Fpat 0 F2pat 1 F2pat 0 F3pat 1 F3pat 0 F4pat 1 F4pat 0 F5pat 1 F5pat 0"
esttab "dd' using pat_10_iv.rtf,mtitle("dd") replace compress nogaps b(%6.4f) t(%6.41) ///
s(N) star( * 0.1 ** 0.05 *** 0.01) drop(yr*) order(us_ratio)

*BARE. @EREFE TG TESENHEMAR, SAEIIH.

*JERDLHIBT F—BT R BN B
* ] 52 RUNAR Y
cd c:\users\dell\desktop\statal2\datal
use firm_ind autor,clear
local aa tfp4 tfp5 vship vadd emp pay invest rd cap ass ebit capx emp_fir sale
foreach v of varlist "aa'{
winsor V' ,gen("v'_w) p(0.01)
H
gen vad _c=vadd w/vship w
gen emp_c=In(l+emp_w)
gen cap_c=In(1+cap_w)
gen roa_c=ebit_w/ass w
gen capx_c=In(1+capx_w)
gen emp_fir c=In(1+emp_fir w)
gen sale c=sale w/ass w
gen rd_n=In(1+rd_w)
tab year,gen(yr)
gen Frd n=F.rd n
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gen F2rd n=F.rd n+F2.rd n

gen F3rd n=F.rd n+F2.rd n+F3.rd n

gen F4rd n=F.rd n+F2.rd n+F3.rd n+tF4.rd n

gen F5rd n=F.rd n+F2.rd n+F3.rd n+F4.rd n+F5.rd n

local cc "roa_c capx_c emp_fir c sale c"

xtreg Frd_n “cc'us_ratio yr* if top==1 ,fe r cluster(code)
est store ivfe rd11

local cc "roa_c capx_c emp_fir c sale c"

xtreg Frd_n “cc'us_ratio yr* if top==0 ,fe r cluster(code)
est store ivfe rd10

local cc "roa_c capx_c emp_fir c sale c"

xtreg F2rd n “cc' us_ratio yr* if top==1,fe r cluster(code)
est store ivfe rd21

local cc "roa_c capx_c emp_fir c sale c"

xtreg F2rd n “cc' us_ratio yr* if top==0,fe r cluster(code)
est store ivfe rd20

local cc "roa_c capx_c emp_fir c sale c"

xtreg F3rd n “cc'us_ratio yr* if top==1,fe r cluster(code)
est store ivfe rd31

local cc "roa_c capx_c emp_fir c sale c"

xtreg F3rd n “cc'us_ratio yr* if top==0,fe r cluster(code)
est store ivfe rd30

local cc "roa_c capx_c emp_fir c sale c"

xtreg F4rd n “cc'us_ratio yr* if top==1,fe r cluster(code)
est store ivfe rd41

local cc "roa_c capx_c emp fir ¢ sale c"

xtreg F4rd n “cc'us_ratio yr* if top==0,fe r cluster(code)
est store ivfe rd40

local cc "roa_c capx_c emp_fir c sale c"

xtreg F5rd n “cc' us_ratio yr* if top==1,fe r cluster(code)
est store ivfe rd51

local cc "roa_c capx_c emp_fir ¢ sale c"

xtreg F5rd_n “cc'us_ratio yr* if top==0 ,fe r cluster(code)
est store ivfe_rd50

*%% 8

local mm "ivfe rd11 ivfe rd10 ivfe rd21 ivfe rd20 ivfe rd31 ivfe rd30 ivfe rd41 //
ivfe_rd40 ivfe rd51 ivfe rd50"

esttab ‘'mm' using rd 10 _fe.rtf,mtitle('mm’') replace compress nogaps b(%6.4f) t(%6.4f) //
s(N) star( * 0.1 ** 0.05 *** 0.01) drop(yr*) order(us_ratio)
*LRRERE

local cc "roa_c capx_c emp fir ¢ sale c"

xtivreg2 Frd n “cc' (us_ratio=av_ratio) yr* if top==1 ,fe r cluster(code)
est store ivfe rdl1
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local cc "roa_c capx_c emp_fir c sale c"

xtivreg2 Frd _n “cc' (us_ratio=av_ratio) yr* if top==0 ,fe r cluster(code)
est store ivfe rd10

local cc "roa_c capx_c emp_fir c sale c"

xtivreg2 F2rd n “cc' (us_ratio=av_ratio) yr* if top==1,fe r cluster(code)
est store ivfe rd21

local cc "roa_c capx_c emp_fir c sale c"

xtivreg2 F2rd n “cc' (us_ratio=av_ratio) yr* if top==0,fe r cluster(code)
est store ivfe rd20

local cc "roa_c capx_c emp_fir c sale c"

xtivreg2 F3rd n “cc' (us_ratio=av_ratio) yr* if top==1,fe r cluster(code)
est store ivfe rd31

local cc "roa_c capx_c emp_fir c sale c"

xtivreg2 F3rd n “cc' (us_ratio=av_ratio) yr* if top==0,fe r cluster(code)
est store ivfe rd30

local cc "roa_c capx_c emp_fir c sale c"

xtivreg2 F4rd n “cc' (us_ratio=av_ratio) yr* if top==1,fe r cluster(code)
est store ivfe rd41

local cc "roa_c capx_c emp_fir c sale c"

xtivreg2 F4rd n “cc' (us_ratio=av_ratio) yr* if top==0,fe r cluster(code)
est store ivfe rd40

local cc "roa_c capx_c emp_fir c sale c"

xtivreg2 F5rd n “cc' (us_ratio=av_ratio) yr* if top==1,fe r cluster(code)
est store ivfe rd51

local cc "roa_c capx_c emp fir c sale c"

xtivreg2 F5rd n “cc' (us_ratio=av_ratio) yr* if top==0 ,fe r cluster(code)
est store ivfe rd50

*%% 8

local mm "ivfe rd11 ivfe rd10 ivfe rd21 ivfe rd20 ivfe rd31 ivfe rd30 ivfe rd41 ///
ivfe rd40 ivfe rd51 ivfe rd50"

esttab ‘'mm' using rd_10_iv.rtf,mtitle('mm') replace compress nogaps b(%6.4f) t(%6.45) ///
s(N) star( * 0.1 ** 0.05 *** 0.01) drop(yr*) order(us_ratio)

KPR R —AERR R RIS
clear

cd c:\users\dell\desktop\statal2\datal

use data_innov_autor,clear

drop top

tostring sic,replace

gen top=0

replace top=1 if strmatch(sic,"3721" "3724" "3728" "3761" "3764" "3769" )
replace top=1 if strmatch(sic,"2911")

destring sic,replace

replace top=1 if fir==38
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replace top=1 if fir==36

replace top=1 if fir==35&sic>=3571

local aa tfp4 tfpS vship vadd emp hcap pay invest matcost rd cap ass ebit capx emp_fir ///
sale intan pat cite low_cite top_cite originity generality

foreach v of varlist "aa'{
winsor 'v' ,gen('v'_w) p(0.01)
H

tab year,gen(yr)
gen vad_c=vadd w/vship w

gen emp_c=In(l+emp_w)

gen cap_c=In(1+cap_w)

gen roa_c=ebit_w/ass w

gen capx_c=In(1+capx_w)

gen emp_fir c=In(1+emp_fir w)
gen sale c=sale w/ass w

genrd c=rd w/ass w

gen emp_n=emp_ w*100/vship w

local cc "vad ccap cemp croa ccapx_cemp fir csale c"

xtivreg2 F.emp n “cc' (us_ratio=av_ratio) yr* if top==1 ,fe r cluster(code)
est store Femp 1

local cc "vad _ccap cemp croa ccapx _cemp fir csale c"

xtivreg2 F.emp n “cc' (us_ratio=av_ratio) yr* if top==0,fe r cluster(code)
est store Femp 0

local cc "vad _ccap cemp croa ccapx _cemp fir csale c"

xtivreg2 F2.emp _n “cc' (us_ratio=av_ratio) yr* if top==1 ,fe r cluster(code)
est store F2emp 1

local cc "vad _ccap cemp croa ccapx _cemp fir csale c"

xtivreg2 F2.emp_n “cc' (us_ratio=av_ratio) yr* if top==0,fe r cluster(code)
est store F2emp 0

local cc "vad _ccap cemp croa ccapx _cemp fir csale c"

xtivreg2 F3.emp n “cc' (us_ratio=av_ratio) yr* if top==1 ,fe r cluster(code)
est store F3emp 1

local cc "vad _ccap cemp croa ccapx _cemp fir csale c"

xtivreg2 F3.emp n “cc' (us_ratio=av_ratio) yr* if top==0,fe r cluster(code)
est store F3emp 0

local cc "vad _ccap cemp croa ccapx _cemp fir csale c"

xtivreg2 F4.emp n “cc' (us_ratio=av_ratio) yr* if top==1 ,fe r cluster(code)
est store F4emp 1

local cc "vad _ccap cemp croa ccapx _cemp fir csale c"

xtivreg2 F4.emp n “cc' (us_ratio=av_ratio) yr* if top==0,fe r cluster(code)
est store F4emp 0

local cc "vad _ccap cemp croa ccapx _cemp fir csale c"
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xtivreg2 F5.emp n “cc' (us_ratio=av_ratio) yr* if top==1 ,fe r cluster(code)

est store FSemp 1

local cc "vad _ccap cemp croa ccapx_cemp fir csale c"

xtivreg2 F5.emp n “cc' (us_ratio=av_ratio) yr* if top==0,fe r cluster(code)

est store FSemp 0

*2@ 9

local dd "Femp 1 Femp 0 F2emp 1 F2emp 0 F3emp 1 F3emp O F4emp 1 Fdemp 0 ///
FSemp 1 FSemp 0"

esttab "dd' using emp_10.rtf,mtitle("dd’) replace compress nogaps b(%6.4f) t(%6.4f) ///
s(N) star( * 0.1 ** 0.05 *** 0.01) drop(yr*) order(us_ratio)

* NATBRAEE RREARMESCH R T 5T RS KRR AEAER, SAEsIH.

AN R —E N ER =

local cc "vad cemp ccap croa ccapx_cemp fir csale c"

xtivreg2 F3pat (us_ratio=av_ratio) "cc' yr* if top==1,fe r cluster(code)

est store pat_ mech3 11

local cc "vad _cemp ccap croa ccapx_cemp fir csale c"

xtivreg2 F3.emp_n (us_ratio=av_ratio) "cc' yr* if top==1,fe r cluster(code)

est store pat_mech3 12

local cc "vad cemp ccap croa ccapx_cemp fir csale c"

xtivreg2 F3pat F3.emp n (us_ratio=av_ratio) yr* “cc'if top==1 ,fe r cluster(code)
est store pat_ mech3 13

local cc "vad_cemp ccap croa ccapx_cemp fir csale c"

xtivreg2 F3capx_n (us_ratio=av_ratio) ‘cc' yr* if top==1,fe r cluster(code)

est store pat_mech3 22

local cc "vad c emp ccap croa ccapx_cemp fir csale c"

xtivreg2 F3pat F3capx n (us_ratio=av_ratio) “cc' yr* if top==1,fe r cluster(code)
est store pat_ mech3 23

local cc "vad _cemp ccap croa ccapx_cemp fir csale c"

xtivreg2 F3.hcap n (us_ratio=av_ratio) "cc' yr* if top==1,fe r cluster(code)

est store pat_mech3 32

local cc "vad c emp _ccap croa ccapx_cemp fir csale c"

xtivreg2 F3pat F3.hcap n (us_ratio=av_ratio) ‘cc' yr* if top==1,fe r cluster(code)
est store pat_mech3 33

*% 10

local dd "pat_mech3 11 pat mech3 12 pat mech3 13 pat mech3 22 ///
pat_mech3 23 pat mech3 32 pat mech3 33"

esttab "dd' using pat_mech_3.rtf,mtitle(’dd’) replace compress nogaps b(%6.4f) t(%6.41) ///
s(N) star( * 0.1 ** 0.05 *** 0.01) keep(us_ratio F3.emp_n F3capx_n F3.hcap n)
*BHNRESEEREFRETEHPNMBRR T EEERBEEB=ZHHEE, BAHIIH.
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